Calculus 1 Test 1 — Summer 2013
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SHOW ALL WORK!! Partial credit will only be given for answers which are partially correct!
Be clear and convince me that you understand what is going on. Use equal signs when things are

equal (and don’t use them when things are not equal). Be sure to include all necessary symbols

(such as limits).

is worth 10 points. You may use your calculator any way you see fit, but you may not share

STUDENT NUMBER

calculators!!! Please put away your cell phones.

1. Find the average rate of change of h(t) = cott on the interval [«/6,n/2].
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If applicable, put your answer in the box provided. Each numbered problem

Evaluate the trig
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3. State the precise (or formal) definition of hm f(x) = L (the definition with the € and § in it).
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4. Suppose f(z) = 1/z, o = 4, and L = 1/4. For € = 0.05, find a corresponding § > 0 which is
f]" 4 }“ guaranteed to exist by the formal definition of limit. (10
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5. Consider f(z) = /4 — z%. Evaluate sl.:u% f(z). Give a clear explanation of your answer and heed
’ any warning signs!
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6. Evaluate lim
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7. Consider f(z) =
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8. Consider y = 2 Find the horizontal asymptote and all vertical asymptote(s). Graph y =
?0 ne f(z) in such a way as to reflect the asymptatic behavior. o 2
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9. Find the slope of the tangent to the curve y = (z-1)2-+1 at the point (1,1). Use the definition

/ ”'7;;: of slope of a tangent line to & curve!
};6 A I ya [hh}-—i) %)= ((21- 1) 1)
"{_/ﬂ h 0 h Ny A
_ , nt+1 -1 F . <
= A ( 1 )= A ) /i h =
h=0 _ h—a h= 0




10. Use the definition of derivative (which involves hmxts) to differentiate k(z)
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Bonus. (a) State the Intermediate Value Theorem. (b) Explain why the equation 2% — 8z + 10 =
—\/?; has a solution.
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